English Literature- An Inspector Calls- Themes
GENERATIONAL DIFFERENCES AND CONFLICT
-Sheila and Eric are both patronised by their parents. Despite the fact they are adults, their parents treat them like children. When the Inspector arrives and Sheila enters, Birling tells her it’s “nothing to do with you, Sheila. Run along”. He tells Inspector Goole he objects to “the way in which my daughter, a young unmarried girl, is being dragged into this”- this is hypocritical because Eva is the same age as Sheila and had to experience it but he thinks Sheila shouldn’t even hear it.  After Sheila turns down Gerald’s ring, Birling says “Now look at the pair of then- the famous younger generation who know it all. And they can’t even take a joke”. Even though Sheila is old enough to be engaged, Mrs Birling refers to her as “child” and scolds her when she refuses to go to bed: “Please don’t contradict me like that”. She regularly tells Sheila to “be quiet” or “don’t talk nonsense”. She believes Eric doesn’t drink because “he’s only a boy” with the Inspector reminding her that he’s a “young man”. Sheila is patronised much more than Eric, and so this perhaps links with the gender inequalities. 
-Gerald is slightly older than Sheila so is caught in the middle, being neither very young nor old. In the end he sides with the older generation, perhaps because his aristocratic roots influence him to want to keep the status quo and protect his own interests.
There are many differences between the generations:
· The old seem to always think they are right and are very complacent whilst the young realise there could be problems in the future. When Mr Birling says that there will be “increasing prosperity” in the future, Eric asks “What about war?” Unlike Birling, Eric is able to look outside the ‘bubble’ of his own life and realise that there are problems in the world. 
· The old are very set in their ways (they are conservatives) whilst the young are able to accept new ideas. For example, this in shown in early Act 1 when Birling explains he sacked Eva “to keep labour costs down” and Gerald says “you couldn’t have done anything else” whilst Eric supports the workers cause and says “he could of kept her on”. Sheila also shows sympathy towards the workers saying “these girls aren’t cheap labour- they’re people”. The younger generations are able to accept socialist ideologies whilst the older generations still have capitalist values. Mrs Birling still has traditional views on women and believes that a woman should come second to her husband’s work: “men with important work to do sometimes have to spend nearly all their time and energy on their business” whilst Sheila realises that women can be much more independent and should have power in society and so this is why she doesn’t take the engagement ring back from Gerald, saying “it’s too soon”. 
· The old will do anything to protect themselves whilst the younger generations are able to accept their faults and mistakes. Mrs Birling lies to the Inspector when he first shows her the photograph, after he asks her if she recognises the photograph she says “No. Why should I?” and Mr Birling just wants to protect himself from a “public scandal”. On the other hand, Eric is completely honest from the start about what he did: “You know, don’t you?” and doesn’t care about whether there is a public scandal: “the fact remains that I did what I did”.
· The old are unable to accept responsibility whilst the younger generation can. Mr Birling says “I can’t accept any responsibility” and Mrs Birling places the blame on the father of the child: “go and look for the father of the child. It’s his responsibility”. Sheila immediately admits her responsibility: “So I’m really responsible” and Eric does too: “The fact remains I did what I did”. After it has been confirmed that Eva didn’t really die, Sheila says to her parents “You began to learn something. And now you’ve stopped… it frightens me the way you talk” showing how much she was affected by the Inspector’s message compared to her parents. Birling even mocks his children for accepting responsibility: “Now look at the pair of them - the famous younger generation who know it all. And they can’t even take a joke-” which is very ironic. 
· The old can’t examine their consciences whilst Sheila and Eric do. Mr and Mrs Birling have never been forced to examine their consciences before and find they cannot do it now - as the saying goes, 'you can't teach an old dog new tricks.' Mrs Birling says “I’ve done nothing I’m ashamed of” However, Eric and Sheila see their part in Eva’s story and are very troubled by it, Eric says “My God! – How stupid it all is!” and Sheila says ““I’ll never, never do it again to anybody.”
· Mr and Mrs Birling have much to fear from the visit of the 'real' inspector because they know they will lose everything. Their worst fear of a “public scandal” will come true and Birling will lose his “chance of a knighthood”. Sheila and Eric have nothing to fear from the visit of the 'real' inspector because they have already admitted what they have done wrong, and will change.
There is conflict between the generations, caused by their differences:
· The biggest example of this is between Eric and his father, this conflict runs throughout the whole play and highlights the differences between Eric’s socialist views and Birling’s capitalist views. When Eric shows sympathy for the workers, Birling snipes: “Look- you just keep out of this” and later, when Eric says “you’re not the kind of father a chap could go to when he’s in trouble”, Birling explodes saying “Don’t talk to me like that. Your trouble is- you’ve been spoilt”. Birling fails to realise that if Eric has been spoilt it is because of him. He also becomes physically threatening towards Eric: “you hysterical young fool get back- or I’ll-” which is the height of tension in the play. 
· There is conflict between Sheila and her mother. Sheila uses “squiffy” to describe Eric and Mrs Birling replies “What an expression, Sheila!” In Act 2, when Mrs Birling re-enters, she uses the word “impertinent” and the stage directions describe “Sheila gives a short, hysterical laugh” before telling her mother “impertinent is such a silly word”. Although these are small conflicts, they highlight the generational differences and could hint at tension between Sheila and her mother. 
· [bookmark: _GoBack]At the end of the play, the differences between Eric and Sheila, who have accepted responsibility, and their parents, who haven’t, causes conflict. When Eric and Sheila try to tell their parents it doesn’t matter whether the Inspector was a real police inspector or not, Birling says “they’re so damned exasperating. They just won’t try to understand our position”. It is particularly rude he is talking about Eric and Sheila whilst they are in the room and he is creating a sense of ‘us and them’ between him and his wife and their children.
JB Priestley’s message/intended effect on the audience:
-Priestley shows how we can all change, through the characters of Eric and Sheila who learn to become socially responsible. He creates the characters of Mr and Mrs Birling to seem foolish and out of touch. The children and parents reverse roles by the end of the play
-Ultimately, through the younger characters, Priestley shows that the younger generation can accept taking responsibility and caring for others. This shows there is optimism that the future of society are taking on the Inspectors message.


